X o
OAST EXAMINATION QUESTIONS: QUATRATIL (NERUALITIES

|« Find the range of values of x for which ‘2(x2 =2)>7Tx. (J99/P1/3)

Z. Find the range of values of k for which the graph of y = x* + (k- 4)x + 1 lies entirely above
the x-axis. (J99/P1/9)

'5' _Find the range of values of x for which 3(x + 1)? < 16x. (N99/P1/2)
&. b(:\)% Find the range of values of x for which x> + 3x —4 > 5x — 1.
(b)  Find the range of values of ¢, given that, for all values of x, X2=S5x+c>2.
(J2000/P1/3) , :
¢. Find the range of values of x for which (2x + 1)(4 - x) > 4. (N2000/P1/3b)
. Given that fx) = 2x2 —5x - 7, !
(1)  find the value of a, of b and of ¢ for which f(x) = alx— b)Y —c, ‘
(ii) state the minimum value of f(x),
(iii) sketch the graph of y = |f(x)| for -2 < x < 4-5, indicating on your graph the coordinates
of the stationary point and of the points where the graph meets the coordinate axes,

(iv) calculate the values of x for which |f(x)| = 7, giving your answers to 2 decimal places
where appropriate. (N2000/P1/17)

#. The function fis defined for the domain —3 < x <3 by f(x) = 4x? + 4x — 15.

(@) Express f(x) in the form a(x + b)? + ¢, where a, 5 and ¢ are constants.

(b)  Find the range of f corresponding to the given domain.

(c) Find the solution set of x for which f(x) > 0.

(d) State the coordinates of the turning point of the curve y = [f(x)|. (spl/12 EITHER)
%. (i)  Find the range of values of x for which x* + 7x — 9 < 8x — 3.

(i) Find the range of values of ¢ for which x2 + 7x — 9 > 8x + ¢, for all values of x.
(JO1/P1/9) ’

Q. Find the range of values of x for which x(2x + 5) > 12. (NO1/P 1/7a) h ‘

tO. Find the x-coordinate of the point on the line Yy = 5 — 2x where xy is a maximum.
(NO1/P1/152) : '

{{. Find the value of a and b for which the solution set of the quadratic inequality x> + ax > b is
{x:1x>2} U {x:x<-4}.  (J2002/P2/9b)
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D) fx)=4(x+5)1-16

() -16<f(x)<33 |

(i) Iff(x)>0thenx<-24orl+<x
(iv) The turning point of [f{x)] is (-, 16) |
() -2<x<3

() c<-9%

1
x<-4orly<x

o1l
=1+

a=2,b=8




